QID: 101 -
In the following question, select the number which
can be placed at the sign of question mark (?7) from
the given alternatives.

T vy # faw ow Reeul & @ oy R
(?) & TG W HA &6 HEA B AT

3 2 2
4 3 1
6 5 6
2 5 ?
Options:
1)4
2)5
3)6
4)8
Correct Answer: 6
Candidate Answer: 5
QID: 102 -
How many triangles are there in the given figure?
& ¢ el A fraa M= ¥2
Options:
14
2)5
3)6
4)8

Correct Answer: 6
Candidate Answer: 6



QID: 103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sels of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from O to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by ils column, for example, ‘U’ can
be represented by 30, 60, etc., and ‘N’ can be represented by 12, 68, etc.
Similarly, you have to identify the set for the word “TEAR".

T Qg dhad Th HTAT-WHE SRT ST T/ §, ofar o fashedl & @
fordlt v o e s ¥ Faweur # Rv WU Twarwep el & & oot
ERT gefiw e &, ok fF T 71w gr amegh 9t {1 Inegl & T 3R
Gfts & @At 0 T 4 ¥ 3R gl A 5 d 91 59 g d U R
F ugd IEEH Uf AR g I TN W@ gRT GUR™T S §dar @
36RO & fAw ‘U@t 30, 66, 31fe GRT AR ST THhaT & aur ‘N’ @ 12,
68, MG SR GMAT S TWehal &1 36T ol A IMUH U7 3 QU A
“TEAR" & fow @eg @t uggemer §

Matrix-I Matrix-ll

k1 r2) el 3eg-ll
011]2]3]|4 5(/6[|7]8]|9
O|A|L|T|Z]|E 5(CIM[W|F|P
1|G|D|N|V]|C 6| K|UIDJN[X
201 F|IP|X TIRISIB|L|V
J|U[Q|K|H|R SIG|Q|A|J|T
4 1Y [W|S|M|J SIE|O|Y|H|R

Options:
1) 89, 04, 00, 75

2) 89,04, 86, 34
3)02,04,01,75

4) 03, 04, 87, 79
Correct Answer: 89, 04, 00, 75
Candidate Answer: 89, 04, 00, 75

QID: 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7€ X Ao B 5@ IR gl & gEw
form & uw gl Afea ¥

X

i



Options:

1)
2)
N
3)
/
A\
4)

X

Correct Answer:

A

Candidate Answer:

QID: 105 -

Which answer figure will complete the pattern in the
question figure?

BT W 3O HBA UH AP & Taed Bl gl
FHIIN?

?
)

N




Options:
1)

7
N\

7

2)

4)

N

Correct Answer:

2

Candidate Answer:

N

QID : 106 -
If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE mer gUUT @ AB IWT W T@T AW, ar & S
Ta¥ AGIAAl # T Big O MBS U G A
TS ufaeEe gefe

%

B




Options:
1)

Correct Answer:
Candidate Answer:

QID : 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

A & ouH pfad # e sgEr Fee @t
HASHT Dedd aUT Tield & a1g a8 fohd SeX HEa
ST fears game

P
RN 00
% 00
2 X




Options:
1)

o0
00

4)

Correct Answer:

o 0O
Q0
(o]o]

o O

Candidate Answer:

o 0O
Q0
(o]

o 0

QID : 108 - What will come in place of question mark (?) in the given equation?

62222422239

fau o gt & vy 5 (2) & RIF WR &1 ST

6222?24?22?39

Options:

1)+, +,—and =

+,+, —ddUl =

2)+, +,xand =

o4, x AUl =

3) x,+, +and =

X, =, +ddl =

4) +, +,—and =

+, 4+, - AUl =

Correct Answer: +, +, X and =
+ 4+, X AT =

Candidate Answer: x, +, + and =
X, +, +dYl =

QID:109 - If 11 x 13 x 15 = 121416 and 17 x 21 x 24 = 182225, then5x 19 x 14 =7

e 11 x 13 x 15 = 121416 AUT17 x 21 x 24 = 182225 F, A5 x 19 x 14 = ?

Options:
1) 41813
2) 62013
3) 62015
4) 52013
Correct Answer: 62015

Candidate Answer: 62015




QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Drama
2. Drive
3. Diction
4. Dictate
5. Dwell

e ] Bl AsabI H S a1 HH & SFAR g

1. Drama
2. Drive
3. Diction
4, Dictate
5. Dwell

Options:
1) 43125

2) 41325
3) 43152

4) 41352
Correct Answer: 43125
Candidate Answer: 43125

QID : 111 - In the following question,select the missing number from the given alternatives.

2.5, 6,13, 27, 55, ?

froferiad us & fow e faswed! § A ga sice 71d BT

2.5,6,13,27,55,?
Options:

1) 111

2) 109

3) 117

4) 119

Correct Answer: 111
Candidate Answer: 111

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

K, G CY,U,?

TP 3HY feam man B, s 9 v ue g §1 o e faw e § § 9% OEl fawen giY, S SimH &l R |

K,G,CY,U,?

Options:

1)P

2)Q

3)R

4)0

Correct Answer: Q

Candidate Answer: [ NOT ANSWERED ]

QID : 113 - In the following question, select the odd word pair from the given alternatives.

Frgferiad s # U T fased 7 A faww wsg 3w &1 gl
Options:
1) Venus : Planet
L U
2) Duck : Bird
o : uell
3) Apple : Red
HNIE)
4) Peas : Vegetable
e : Feoll
Correct Answer: Apple : Red
I : A
Candidate Answer: Apple : Red
Jq : A

QID : 114 - In the following question, select the odd number pair from the given alternatives.

ﬁﬁ%@mu&ﬁﬁmﬂQﬁaﬂﬂﬁ%ﬁﬁqﬁgp Bl

I Bt 10l e T Bt A

oA e e |



Options:

1)48:32

2)64:24

3)26:14

4)86:48

Correct Answer: 26 : 14

Candidate Answer: [ NOT ANSWERED ]

QID : 115 - In the following question, select the odd letters from the given alternatives.

Frafoied uy # T e faswedt # 3 favm siert &1 gl

Options:
1) CBA

2) YWX
3) IHG

4) MLK
Correct Answer: YWX
Candidate Answer: YWX

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Letter, Word, Paragraph

T8 3G AT 1 TR U U anif & o ey o1 Te) g B g
&R, e, HTDG

Options:

00

N

W

Y

@B (@) o

Correct Answer:

©

Candidate Answer:




QID : 117 - In the following question, select the related word pair from the given alternatives.

Mango : Fruit: : Onion: ?

FafeRad wy # 3w u faeedl # ¥ et weg g 1 gHul
STH : el & : TS & ?

Options:

1) Pink

2) Vegetable

geall

3) Fry

GG

4) Root

KK

Correct Answer: Vegetable

Candidate Answer: Vegetable

QID : 118 - In the following question, select the related number from the given alternatives.

3:27::5:?

Frafeiad us § 3w 7T fased! & 4 Fdfed de &1 gl
3:27::5:?

Options:

1) 125

2)50

3) 64

4) 81

Correct Answer: 125

Candidate Answer: 125

QID : 119 - In the following question, select the related letters from the given alternatives.

CAB:FDE:: TAP:?

Fofaraa vy & fiu M e § S Tafia siert o1 g
CAB:FDE::TAP:?

Options:

1) WDS

2) WDT

3) VDS

4) VDT
Correct Answer: WDS
Candidate Answer: WDS

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.

HIGHLIGHTS

oo fawadl & § 98 g g S AU 1T Xeg & S1&RT BT TN HXP e8] ST S FhaTl
HIGHLIGHTS

Options:

1) SLIT

2) HINT

3) HIGH

4) LIST
Correct Answer: HINT
Candidate Answer: HINT

QID : 121 - Ais father of B. B is brother of C. Cis sister of E. E is father of D. How is A related to D?

A, BT a1 81 B, CHT 4TS 81 C, E i 984 &1 E, D &1 U1 81 A, D ¥ {9 yopR Teifira 82




Options:
1) Grandson

2) Brother
3) Father

4) Grandfather
<lal

Correct Answer: Grandfather
qlal
Candidate Answer: Brother

QID : 122 - The ratio of present ages of A and B is 3 : 4. After 5 years the ratio becomes 7 : 9. What is the present age (in years) of A?

AT B Bt T 311G T S0 3 : 4 §1 5 IY YT IT! 3T BT U 7 : 9 BT S| A B GdqH 31g (auf H) T g2
Options:
1) 30

2) 40
3) 60

4)75
Correct Answer: 30
Candidate Answer: [ NOT ANSWERED ]

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some cups are tables.
1I. Some tables are chairs.

Conclusions:
I. Some chairs are not cups.
II. Some chairs are tables.

?ﬁ%%ﬁﬂﬁﬂ%ﬁ@$ﬂ@?ﬁ$%ﬁ$ﬂ:ﬁwsﬂﬂmﬁﬁﬁﬁﬁqﬂﬂ% BTiifer ITH WM F1a At & e g1 obaht 1 i Fepef g ok fihe Faffa
P % for T & Fry, o T Sl & SR W g g

DY:
LT FUTA|
1L $© A9 o gl

W TWE
I &Y el 8
u%mﬁa%l

Options:
1) Only conclusion (I) follows.
Faa sy (1) T B
2) Only conclusion (II) follows.
Faa By (11) T 31
3) Both conclusion %_follow.
|
4) Neither conclusion (I) nor conclusion (II) follows.
7 0 Frsp (1) 71 81 e (11) R B
Correct Answer: Only conclusion (II) follows.
aa ey (11) T8 B
Candidate Answer: Both conclusion follow.

gl 8 el Ut §

QID : 124 - In a certain code language, "MOBILE" is written as "NQEMQK". How is "CHARGER" written in that code language?

e AT Bis W H, "MOBILE" %1 "NQEMQK" foraT ST € | 59 &S 1T # "CHARGER" ! fhg UepR forar wmemm?
Options:
1) DIDVLKY

2) DIDWLKY
3) DICVLKZ

4) DJCVMLZ
Correct Answer: DIDVLKY
Candidate Answer: DIDVLKY

e s T T AT b e T et o Vo Ve |



QID : 125 - In a certain code language, "TAB" is written as "69" and "DEL" is written as "63". How is "SUB" written in that code language?

% faRiy F1s YT §, "TAB" &1 "69" qUI "DEL" &I "63" foRal Il 81 39 $I U & "SUB" &) by YR forar smwm?
Options:
1) 42

2) 84
3) 126

4) 123
Correct Answer: 126
Candidate Answer: 126

QID : 126 - What is the value of 12 + 32 + 52 +..... 17%?
12+ 32+ 52+ 172 BT HF &1 82

Options:
1) 969

2) 696
3)917

4) 899
Correct Answer: 969

Candidate Answer: 969

QID : 127 - Which of the following statement (s) is/are true?
1. vV2>3V3
1. 3V3 > v4

e § ¥ o8 9 $YF 99 8/2?
1.vV2>3V3

1. 3V3 > V4

Options:

1) Only I
Hada I

2)Only IT
&ad 11

3) Both (I) and (II)
(1) 4T (I1) ST

4) Neither (I) nor (II)
TA() AR A (D)

Correct Answer: Only II
I I

Candidate Answer: Only II
Had I

QID : 128 - How many times the digit 6 appears in the number from 203 to 302?

203 ¥ 302 I B TSI H 375 6 P IR 3T 82



Options:
1) 18

2)19

3)20

421

Correct Answer: 20

Candidate Answer: 19

QID : 129 - What is the largest three digit perfect cube?

W sip T e o1 Ul T T 2

Options:
1) 125

2) 729

3) 100

4) 216

Correct Answer: 729

Candidate Answer: 125

QID:130-IfA=23x32andB =

27 x 35, then what is the value of A x B?

e A=23x32TU B =27 x 358, & A x B T HIF &1 82

Options:
1) 210 37

2) 221 310

3)2437

4) 210 310



Correct Answer: 210 37

Candidate Answer: [ NOT ANSWERED ]

QID : 131 - What is the simplified form of 312 x 2730 x 81107
312 x 2730 x 8110 7 el TH FT 82

Options:
1) 352

2) 392

3) 3156

4) 3142

Correct Answer: 3142

Candidate Answer: 352

QID : 132 - Three taps A, B and C together can completely fill a tank in 45 minutes. B and C together can fill the same tank in 60 minutes. In how much time (in
minutes) A alone can fill the tank?

%ﬁq:{t%A, B T C fiaR T ol &Y 45 e H Gt @Rg *R ahd § | B YT C dHR 39 <1 &1 60 e & R 9ahd 1 A 3fbal fha wmg (fe ) & <t 1 R
Pl &2

Options:
1) 120

2) 180

3) 150

4) 240

Correct Answer: 180

Candidate Answer: [ NOT ANSWERED ]

QID : 133 - Two taps U and V together can fill a tank in 45 hours, V and W in 60 hours and U and W in 90 hours. If all the three taps are opened, then in how
much time (in hours) the tank will be completely filled?

awgaaz%vﬁwwﬁﬁaﬁ%ﬂ%ﬁmm%,vamw 60 T T 9T U TUT W 90 T F R Tdha &1 afe I 7a 31 Wit fam e, & <ot 1 gy R F fban
Y (41 §) T



Options:
1) 45

2) 48

3) 40

4) 54

Correct Answer: 40

Candidate Answer: 54

QID : 134 - The height of two cylinders are equal and their radius are in the ratio of 1 : 4 respectively. What is the respective ratio of the volume of the two
cylinders?

B ST B ST SRR § TUT 7! 01 HA: 1 : 4 & U | §1 ST ST & ST BT HH: U T 82

Options:
1)1:4

2)1:2
3)1:8

4)1:16

Correct Answer: 1: 16

Candidate Answer: [ NOT ANSWERED ]

QID : 135 - Marked price of an article is Rs 5320 and its selling price is Rs 4256. What is discount percentage?
T I B Sifhd Ted 5320 T © a1 SUHT fachd I 4256 T T Fe Uia<Id 1 32

Options:
1) 60

2) 40

3)20

4) 80

Correct Answer: 20

Candidate Answer: [ NOT AN e W |



QID : 136 - Three successive discounts of 25%, 20% and 25% are given. What will be the net discount (in percentage)?

25%, 20% YT 25% B A Hid® e o It ol Fad (7T) ge (via=ma H) F1 grire

Options:
1) 62.5

2) 55

3)65

4)67.5

Correct Answer: 55

Candidate Answer: 67.5

QID : 137 - The ratio of ages of U and V 17 years ago was 2 : 1. The ratio of their age 8 years hence will be 11 : 8. What will be the sum (in years) of their present
ages?

U TV S ST T SFUT 17 1E U8 2 : 1 UT| JAD! 3R T 30T 8 WA &G 11 : 8 BN ST FAD! aidH 31 &1 G0 (aui 7) faser g

Options:
1) 45

2) 79

3) 95

4)63

Correct Answer: 79

Candidate Answer: [ NOT ANSWERED ]

QID : 138 - The income of Rahul and Vijay are in the ratio 5 : 3 and their expenditures are in the ratio 2 : 1. If each saves Rs 30,000, then what will the sum of
their incomes?

G T FAoRT BT 31T BT UG 5 : 3 § TUT 3% W BT U 2 : 1 81 3 U 30,000 F &1 & BT 8, A1 S9! 319 BT A (3 H) e gmme



Options:
1) 1,80,000

2) 210000

3) 240000

4) 1,90,000

Correct Answer: 240000

Candidate Answer: [ NOT ANSWERED ]

QID : 139 - What is the average of first 15 natural numbers?
Tgel 15 WIHfad sl &1 iR & 2

Options:
1) 10

2)7

3)9

a8

Correct Answer: 8

Candidate Answer: 8

QID : 140 - The cost price of an article is Rs 110. If it is sold for Rs 99, then what is the loss percentage?
TF I BT 69 G 110 ¥ g1 3 IX 99 % & 591 Sl 8, o g1 wfowra = 82

Options:
1) 11

2)12

3) 15

4) 10

Correct Answer: 10



Candidate Answer: 10

QID : 141 - Cost price of a book is Rs 200. What should be the selling price (in Rs) of the book to gain 20% profit?
TH TP $T 54 e 200 F T 20% T U B & 110 YR 1 faeha T (3 H) 31 g1 anfee?

Options:
1) 220

2) 240

3) 230

4) 260

Correct Answer: 240

Candidate Answer: 240

QID : 142 - A 1200 grams of sugar solution contains 50% sugar. How much sugar (in grams) must be added so that the new solution contains 60% sugar?

1200 ¥ <+t & O § 50% T 81 fraet - (mm B) frers sie fe e ara J 60% i 8) Sie?

Options:
1) 240

2) 350

3) 300

4) 400

Correct Answer: 300

Candidate Answer: 240

QID : 143 - The population of a town increase by 15% every year. If the present population of the town is 82800, then what was the population of the town last
year?

Tt 2R B SIRieT Uiy 15% 9 9l 81 afe e’ B adH SEs 82800 B, ) wd oy wel Y s a1 o



Options:
1) 72000

2) 76000

3) 72500

4) 78000

Correct Answer: 72000

Candidate Answer: [ NOT ANSWERED ]

QID : 144 - A train crosses a platform in 30 seconds travelling with a speed of 90 km/h. If the length of the train be 250 metres, then what will be the length (in
metres) of the platform?

T Yamet 90 fas. 1. /der ot 1fa § I U U WiewiH i 30 YHUs H UR FHX Al 81 afes YRSt ot aars 250 Hier ot 8, O wiewid ot awars (Hiex #) @1 gnfie

Options:
1) 450

2) 500

3) 360

4) 600

Correct Answer: 500

Candidate Answer: 360

QID : 145 - Speed of a boat is 12 km/hr in still water and the speed of the stream is 3 km/hr. If the boat takes 8 hours to go to a place and come back, then what
is the distance (in km) of the place?

it oid A9 @1 i 12 5wt /eer § qur uRT Y i 3 .. e 81 afe e 8 g F et gl aw wiew o S §, < g (.. ) b @2

Options:
1) 36

2)45

3) 60

4) 90



Correct Answer: 45

Candidate Answer: 60

QID : 146 - A sum of Rs 10000 is invested at a scheme of compound interest. The interest rate is 10%. If the interest is compounded half yearly, then what will be
the interest (in Rs) after 1 year?

10000 ¥ Y U AT Y Aehgfa SISl b Aot | a2 faam Tar| & <R 10% B 1 afe s o7 Waior Sigarities &), dl Ue oY &g st (3 H) fovaan grm?

Options:
1) 1025

2) 1000

3) 1200

4) 1375
Correct Answer: 1025

Candidate Answer: 1375

QID: 147 -
The table below shows the cost of four cars in 5
different towns.

drr & e difeler A 5 e el A =R emisal
& HeT P R TAT §

car | Cost of cars in towns (in Rs 000) /
Y faffee ol & izt & 7 (000 ¥ #)
\ T T2 T3 T4 T5
C1 924 918 936 998 879
C2 314 325 318 341 307
C3 465 385 432 458 412
C4 238 288 212 199 247

What is the difference (in Rs) between the highest cost of C1 and the lowest cost of C3?

C1 % 3ifchad Ged quT €3 & T ged § fohaT 3ieR (3 ) 2

e s T T AT b e T et o Vo Ve |



Options:
1) 724000

2) 575000
3) 599000

4) 613000
Correct Answer: 613000

Candidate Answer: 613000

QID: 148 -
The table below shows the cost of four cars in 5
different towns.

arr & T2 g # 5 e et # IR anfsan
& Hea @ AT T g

Cost of cars in towns (in Rs 000) /
fafdeer Rl & @i &1 = (000 ¥ )
T T2 T3 T4 T5
C1 924 918 936 998 879
C2 314 325 318 341 307
C3 465 385 432 458 412
C4 238 288 212 199 247

Car/
IMEr

What is the average cost (in Rs) of C2?
C2 1 3G g (3 H) 1 82

Options:
1) 327000

2) 321000

3) 336000

4) 319000

Correct Answer: 321000

Candidate Answer: 321000




QID: 149 -
The table below shows the cost of four cars in 5
different towns.

&rr & TE arfere A 5 e et # IR anisar
& HEd @ AT T g

car/ Cost of cars in towns (in Rs 000) /
Y e et & mizat &1 Fe=T (000 T )
' T1 T2 T3 T4 T5
C1 924 918 936 998 879
C2 314 325 318 341 307
C3 465 385 432 458 412
C4 238 288 212 199 247

If a person wishes to buy 1 car of each type in T3, then what will be the total cost (in Rs) he has to pay?
Ifg u i e Wi B 1 MY T3 H W1 Irgdr 8, o) IS fora1 o Ged (3 H) 1 USm?

Options:
1) 1898000

2) 2164000
3) 2054000

4) 1962000
Correct Answer: 1898000

Candidate Answer: 1898000

QID: 150 -
The table below shows the cost of four cars in 5
different towns.

grr & TE arfere # 5 fdea et # IR anisar
& Fed B AT T §

car/ Cost of cars in towns (in Rs 000} /
ST e Ot F wiat &1 7 (000 7 )
' T T2 T3 T4 T5
C1 | 924 | 918 | 936 | 998 879
C2 | 314 | 325 | 318 | 341 307
C3 | 465 | 385 | 432 | 458 412
C4 | 238 | 288 | 212 | 199 247

What is the ratio of total cost of 1 unit all the cars in T2 and the total cost of 1 unit of all the cars in T4?

T2 B9l s 1 1 TS & P T gl T4 B it IS Bt 1 THE S S T Bl U ] 62

I Bl woitenft Lvmen s Tors ottt 8 Lo Sulettinln Boe R w32 T U s M



Options:
1) 479 : 499

2) 521 : 509

3) 601 : 668

4) None of these
T I B T

Correct Answer: 479 : 499

Candidate Answer: None of these
T I P T
QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate

option. If a sentence is free from error, select 'No Error'.

What a better way (1)/ of taking care than (2)/ ensure good health. (3)/ No Error (4)

Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: 2

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

It is a very paining experience (1)/ both for the one who (2)/ and for them who are the victims. (3)/ No Error (4)

Options:
1)1

2)2
3)3

4)4
Correct Answer: 1
Candidate Answer: 3

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

There are only ten teachers the staff of this school.

Options:
1) on

2) at
3)as

4) under
Correct Answer: as
Candidate Answer: under

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Geeta that she could speak four languages.




Options:

1) boasted
2) suggested
3) roasted
4) submitted

Correct Answer: boasted
Candidate Answer: boasted

QID : 155 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.

Retreat

Options:

1) Advance
2) Coming
3) Withdrawl
4) Arrival

Correct Answer: Withdrawl
Candidate Answer: Withdrawl

QID : 156 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.
Timid

Options:
1) Coward

2) Brave
3) Bold

4) Fearless
Correct Answer: Coward
Candidate Answer: Coward

QID : 157 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.

Convict

Options:
1) Victim

2) Free
3) Culprit

4) Independent
Correct Answer: Culprit
Candidate Answer: Culprit

QID : 158 - In the following question, out of the give four alternatives, select the one which is opposite in meaning of the given word.

Sluggish

Options:
1) Inert

2) Heavy
3) Slow

4) Alert
Correct Answer: Alert
Candidate Answer: Alert

QID : 159 - In the following question, out of the give four alternatives, select the one which is opposite in meaning of the given word.

Crafty
Options:
1) Sharp

2) Smart
3) Artful

4) Unskilled
Correct Answer: Unskilled
Candidate Answer: Unskilled




QID : 160 - In the following question, out of the give four alternatives, select the one which is opposite in meaning of the given word.

Covert

Options:
1) Public

2) Hidden
3) Private

4) Concealed
Correct Answer: Public
Candidate Answer: Public

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Jaundiced eye

Options:

1) A criminal

2) A prejudiced view
3) To be stupid

4) An experienced man

Correct Answer: A prejudiced view
Candidate Answer: A criminal

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Kill two birds with one stone

Options:
1) To take revenge from two enemies

2) To serve two purposes at one time
3) To be happy and unhappy at one time

4) To maximize the profit
Correct Answer: To serve two purposes at one time
Candidate Answer: To serve two purposes at one time

QID : 163 - Improve the bracketed part of the sentence.

A fool and his money are (soon parted).

Options:
1) departed

2) aparted
3) retarted

4) No improvement
Correct Answer: No improvement
Candidate Answer: departed

QID : 164 - Improve the bracketed part of the sentence.

(Jaya, you and I) shall go for a movie together.

Options:
1) I, you and Jaya

2) You, Jaya and I
3) You, I and Jaya

4) No improvement
Correct Answer: You, Jaya and I
Candidate Answer: I, you and Jaya

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Science of blood

e s T T AT b e T et o Vo Ve |



Options:
1) Ornitology

2) Climatology
3) Etiology

4) Haematology
Correct Answer: Haematology
Candidate Answer: Haematology

QID : 166 - I In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Science dealing with heredity

Options:
1) Gastronomy

2) Aviation
3) Genetics

4) Kalology
Correct Answer: Genetics
Candidate Answer: Gastronomy

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Esential

2) Essential
3) Assential

4) Essenshal
Correct Answer: Essential
Candidate Answer: Essential

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Headache

2) Headeche
3) Headaech

4) Headaceh
Correct Answer: Headache
Candidate Answer: Headeche

QID : 169 - Rearrange the parts of the sentence in correct order.

God will

P: to help ourselves
Q: help us if

R: we are prepared

Options:
1) QRP

2) RQP
3) PQR

4) RPQ
Correct Answer: QRP
Candidate Answer: QRP

QID : 170 - Rearrange the parts of the sentence in correct order.

The cooperative system

P: a good way of encouraging
Q: of doing business is

R: ordinary workers to work hard




Options:

1) QPR

2) PQP

3) PQR

4) RPQ

Correct Answer: QPR
Candidate Answer: PQR

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Family is a group of two, three or more persons living together in one home. A new comer baby positive family relationships for his/her
development and well-being in the society. Healthy family relationships help in good habits, cultures and traditions in the children. A healthy family
the need of especially child and old people.

A new comer baby positive

Options:
1) asks for

2) demands for
3) aspires

4) requires
Correct Answer: requires
Candidate Answer: requires

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Family is a group of two, three or more persons living together in one home. A new comer baby positive family relationships for his/her
development and well-being in the society. Healthy family relationships help in good habits, cultures and traditions in the children. A healthy family
the need of especially child and old people.

for his/her development

Options:
1) overall

2) meager
3) great

4) awesome
Correct Answer: overall
Candidate Answer: overall

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Family is a group of two, three or more persons living together in one home. A new comer baby positive family relationships for his/her
development and well-being in the society. Healthy family relationships help in good habits, cultures and traditions in the children. A healthy family
the need of especially child and old people.

relationships help in good habits,

Options:

1) manipulating
2) ignoring
3) promoting

4) hiding
Correct Answer: promoting
Candidate Answer: promoting

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Family is a group of two, three or more persons living together in one home. A new comer baby positive family relationships for his/her
development and well-being in the society. Healthy family relationships help in good habits, cultures and traditions in the children. A healthy family
the need of especially child and old people.

A healthy family
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Options:
1) was

2) were
3) can

4)is
Correct Answer: is
Candidate Answer: is

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Family is a group of two, three or more persons living together in one home. A new comer baby positive family relationships for his/her
development and well-being in the society. Healthy family relationships help in good habits, cultures and traditions in the children. A healthy family
the need of especially child and old people.

of especially child

Options:

1) each one

2) everyone

3) one another

4) each other
Correct Answer: everyone
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - Money value of all the goods and services produced in a country in a year is called as

wF ¥ A el &1 B Sanea il wmrEr SR Jareht & oF e @l CHEGIG
Options:
1) National income
3
2) Net value
PAHA
3) Gross profit
Hhd oY
4) Profit
o

Correct Answer: National income

B g T 3

Candidate Answer: National income
3 g g 3

QID : 177 - While calculating GDP which among the following is not included?

S 31 . % geaied # Fafiiea § 9 o0 dxafya 751 f6ar s
Options:

1) Final goods

Sffqm a%g

2) Final services

3) Intermediate goods

S a5

4) None of these

T A IS el

Correct Answer: Intermediate goods
meAHS 9%

Candidate Answer: Intermediate goods

meafts oy

QID : 178 - How many fundamental rights does Part III of India constitution guarantees India citizens?

HRTg GiaeH &1 4T & HRdTT AR &) e Aifte sifier IR o 82
Options:
1) One

TH
2) Two

3) Six

GH

4) Ten

<

Correct Answer: Six
w:
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Candidate Answer: Six
CH

QID : 179 - Which article of Indian Constitution states that untouchability has been abolished?

YR WA & 59 S & SR SRYKI] BT IHIH 51 o I&Hl 82
Options:
1) Article 15
15
2) Article 16
AHTHG 16
3) Article 17
TG 17
4) Article 18
3THT 18
Correct Answer: Article 17
TG 17
Candidate Answer: Article 17

3g=e 17

QID : 180 - Who was the founder of Rashtrakuta dynasty?

TFHT I BT GRS B U1
Options:
1) Harshvardhan

o

2) Dantidurga
3) Kadumba

DHgHEIl
4) Chandra Gupta-1
o[-

Cprrect Answer: Dantidurga

Candidate Answer: Dantidurga

QID : 181 - In which year Bengal was partitioned?

g af & §ra &7 fayTeH o fear m A
Options:
1) 1900

2) 1905
3) 1895

4) 1890
Correct Answer: 1905
Candidate Answer: 1905

QID : 182 - What is the position of Saturn from the Sun among the eight planets?

36 TR B I T | D W RM R Ry 72
Options:

1) First

qgal

2) Second

3) Third
GIRiEY

4) sixth

B

Correct Answer: sixth
“al

Candidate Answer: sixth
Bal

QID : 183 - 237 degrees north latitude marks what?

235 3I%T I AT T <=AfelT B
Options:
1) Tropic of Cancer

2) Tropic of Capricorn
TR Gl

3) Arctic Circle

IR 44 (ATDleH) T4
4) Antarctic Circle
g2 ¢fq (sferiés) o




Correct Answer: Tropic of Cancer

& @l

Candidate Answer: Tropic of Cancer

B @l

QID : 184 - Which among the following is the prominent part of an flower?

fFaffaa § ¥ $19 RS 50 I 31 TP W U B 82
Options:
1.) Petz\lls

2) Sepals
dlgladd
3) Stamens

4) Pistil
(;orreqt Answer: Petals

Candidate Answer: Petals

QID : 185 - Vitamin needed for blood coagulation is .

T WheA ¥ I simaxas &
Options:

1) Vitamin B

et &t

2) Vitamin A
[CEIEERY

3) Vitamin K
4) Vitamin C
fqerf <

Correct Answer: Vitamin K

Candidate Answer: Vitamin K

QID : 186 - Longest bone of huamn body is .

A TR B IS Tt g gl
Options:
1) humerus

2) stapes
e
3) femur

4) Radio-ulna
& e
Correct Answer: femur

Candidate Answer: femur

QID : 187 - Select the odd pair.

faww SISt @1 99 R

Options:

1) Muscular force — Contact force

=iy 59 - 9d 39

2) Electrostatic force — Non contact force

3) Friction — Non contact force
0T — SR fRRR
4) Gravitational force — Non contact force

Correct Answer: Friction — Non contact force

Candidate Answer: Gravitational force — Non contact force

QID : 188 - Energy possessed by a body due to its motion is 5
3ot Y & PRI T v gR siftnfed et FHEan gl




Options:
1) Kinetic energy
TSt SHolt

2) chemical energy
3) Potential energy
4) None of these

T P T

Correct Answer: Kinetic energy

Candidate Answer: Kinetic energy

QID : 189 - Which was the first web based e-mail service?

Ugdll a9 3MeiRd §-Aer Ja1 HH 6 oA
Options:

1) Rediffmail

L)

2) Yahoo mail
g 7d

3) Hotmail

4) Gmail
S

Correct Answer: Hotmail

Candidate Answer: Hotmail

QID : 190 - Aluminum is extracted from

T &1 ey Jgargl
Options:
1) hematite

2) bauxite

EICSIES
3) calamine

4) cinnabar

C\9rrect Answer: bauxite
CICNIES
Candidate Answer: bauxite

EICNIES

QID : 191 - Which of the following is a good conductor of electricity?

Fafifed # § H-91 U5 fIgad ga® §?
Options:
1) Charcoal

2) Wood
Adal

3) Graphite
4) Diamond

Correct Answer: Graphite

Candidate Answer: Graphite

QID : 192 - Which among the following is not a greenhouse gas?

Frafefed # 3 39 @ gRays 19 781 87
Options:

1) Carbon Qioxide

B SRHFRS

2) Methane

pidcH

31 Oxygen
Sl

4) Nitrous oxide
BN REIESIES]
Correct Answer: Oxygen




Candidate Answer: Oxygen

QID : 193 - Which is an online library for persons with visual disabilities?

DI W T famaiT anll & 1T T Siarg Jaded 62
Options:

1) Sugamya Pathshala

T YISl

2) Sugamya Pustakalaya

T YD1
3) e- Pustakalaya

NN
4) e- Pathshala
ERC IR
Correct Answer: Sugamya Pustakalaya

T Qb
Candidate Answer: [ NOT ANSWERED ]

QID : 194 - Who invented Razor?

IR P AAHRS B 82
Options:

1) King C. Gillette

T . fordie

2) Henri Giffard

TR e

3) Karl Benz
P ool

4) William Harvey
faferam g1d

Correct Answer: King C. Gillette
fobr 4. foreie

Candidate Answer: King C. Gillette
febar ¥, foreie

QID : 195 - 'Raider' is associated with which sport?

e} ford WA 4 =T 72
Options:

1) Cricket

fpdpe

2) Hockey
Blabt
3) Kabaddi

4) Fgotball
Bcdld

Correct Answer: Kabaddi

Candidate Answer: Kabaddi

QID : 196 - Aipan is a traditional folk art of which state?

U e 5T BT TRURS Sl el 82
Options:

1) Madhya Pradesh

" YSw

2) Andhra Pradesh

T8y T

3) Tamil Nadu

4) Uttarakhand

JRRIUS

Correct Answer: Uttarakhand
Candidate Answer: Tamil Nadu

QID : 197 - Who is the recipient of the 2017 Dronacharya Award for Wrestling?
FAt & AT 2017 SUTARf REGR & Wdd S 82




Options:
1) Mahavir Singh Phogat
AR g ®Ie
2) Roshan Lal
GIS]
3) Dara Singh
CINARE
4) None of these
T A 1S Tl
Correct Answer: Roshan Lal
=M a1

Candidate Answer: None of these

T A DI TI
QID : 198 - Who is the author of book named "Ben Hur : A tale of the Christ"?

ST GR: 3 O S T e TS [ad & AWD B 87
Options:

1) John Dean

M EH

2) Lewis Wallace

3) Alan Patan

K GICRCRE)

4) Thomas Moore

YA IR

Correct Answer: Lewis Wallace

Candidate Answer: [ NOT ANSWERED ]

QID : 199 - Which was the operation by India to evaluate Indian Citizens stranded in South Sudan's capital Juba?

YRA GRT 30N G 3T ISt Ja1 H Bl YR ANRG! BT b1 & fo7g 1 91 SR ar
Options:
1) Operation Megh Prahar
(TR 7Y UgR
2) Operation Sankat Mochan
SR Fehe HITH
3) Operation Indra
SRR $a1
4) Operation Sampriti
SR

Correct Answer: Operation Sankat Mochan
IR Febe HidA
Cendidate Answer: Operation Sankat Mochan

TR Hhe HigA
QID : 200 - The 250 km Tamu-Kalewa-Kalemyo highway is popularly called Friendship Road.

250 5.1, F1 AN-HAd-HeR FEd A id 4 foerar Is@ Heamd 82
Options:

1) Indo-Nepalese

S S1-AuTe

2) Indo-Myanmar

3) Indo-Bhutan

TSI

4) Indo-China

ESIECIE|

Correct Answer: Indo-Myanmar
Candidate Answer: Indo-Myanmar




